Math 141, Sections 7, 9, 19 Quiz #1: September 13, 2012

Name: : )e(/A = Section:

There are 5 multiple c;ljoice problems, and 2 short answer problems. Write all multiple choice
answers in the box provided. You have 25 minutes to complete the quiz.
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4. Find the equation for the line tangent to the curve y = loga(z) at = = 1025.
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5. Find the derivative of f(z) = sin(e?® + 2z). ‘vzx) = L Ceﬂv +QX) . (2 e s 2)
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6. (2 points). (Show all work). Find tan(sm“l(l/ 3)). You may assume that 0 < 6 < 3.
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7. (3 points). (Show all work). If f(z) = z'2(®), find an equation for f’(z).
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